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OI&ZABAALSAL DK(2D) 12,667 9,148 3,519
= 7,686
= 4,981
307 BI2t0IH 4,555 3,294 1,261
= 2,278
= 2,277
02 SI2ABAE X 4,555 3,204 1,261
ONSZARAAL BAXN B2DS 4,555
= 2,278
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308 XtXIEHH SO 8,112 5,854 2,258
= 5,408
= 2,704
01 RXSHBLSES 8,112 5,854 2,258
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= 5,408
= 2,704
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= 52,038
= 11,151
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= 16,020
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= 26,995
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| 111,979
= 23,995
01 MASHHZHSES 135,974 72,493 63,481
OZALEH0IZ0S EBAL 2YX 112,514
| 92,659
= 19,855
ONFE2A0Y FMZEIYX AFDS 23,460
| 19,320
= 4,140
403 Xt GHRIS XH2 0/ & 17,000 0 17,000
| 14,000
= 3,000
01 MHXSHX2SE 17,000 0 17,000
OZAMGHOIF0L ESAL IS 17,000
| 14,000
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OIFLEEBNUL 2 591,313
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= 197,104
OJNHAZALHI BSAILE 29 327,897
= 270,033
& 57,864
XSS K201 A 9,750 12,300 A 2,550
= 6,500
& 3,250
JNPNR= P DNE-=SCES 9,750 12,300 A2,550
ONHEZABSAL IS8 9,750
2 6,500
& 3,250
IIEEY - 858 BESAAH 2H(=21) 578,470 149,350 429,120
= 532,429
[ 46,041
o120l & 578,470 149,350 429,120
= 532,429
& 46,041
It AE X 578,470 149,350 429,120
ORAEXAME 2N 153,470
2 107,429
& 46,041
OBHHI2IIIOISHIE 22 425,000
= 425,000
NEWe 20K 2HEgs N (212) 31,500 0 31,500
= 15,750
& 15,750
BI2t0| & 31,500 0 31,500
= 15,750
& 15,750
QIZtEAE X 31,500 0 31,500
OXGNA ZALHK FRES X 31,500
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J A= Iois=s & HEEX(32) 211,043 245,543 A 34,500
| 187,000
& 24,043
XX S0l & 211,043 245,543 A 34,500
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A= X X232 112,857
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-3 12,857
A= MoK NgE 18,057
| 16,000
= 2,057
H4=22 oK o 2| 18,057
| 16,000
= 2,057
ZHMHHE FAHAXZ AL (22) 22,992 0 22,992
= 22,992
308 XXl EHXISOIH 22,992 0 22,992
= 22,992
=SS ERNCES= 22,992 0 22,992
AWML FHR AL 22,992
3 22,992
X X 6.000 18,000 A 12,000
IS0l 6.000 18,000 ~12,000
SHZNEES 6.000 18,000 A 12,000
OO0l4 =4I oAt KHE Xl 6.000
A X 39,780 54,150 14,370
308 XXl & S0IH 39,780 54,150 14,370
01 IXSHMBA2EZ 39,780 54,150 A 14,370
Z MM YHDS 2,400
ZA0Y =50 2,100
HdEAagd 29 14,000
HEAMHI 25 AL 21,280
e SHAALE 18,780 37,200 ~18,420
2| 9,700 12,700 ~3,000
Szl 9,700 12,700 A3,000
OXNFHIZ0Y DS 5,000
OHAEZT A3 29 3,000
OO0lg =2 AL SAK WS 1,700
301 YerE a3 9.080 11,000 A1,920
10 SAIMH I 2A2 9,080 11,000 ~1,920
o0l 29 6.080
O0H = AYAL SAX DS 3,000
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=2 85,201,022
pJ 3,885,116
= 706,600
< 31,782,617
AXNY 238 =4 6,679,461 4,179,377 2,500,084
=2 1,842,220
pJ 3,885,116
= 952,125
ZEOIYURIE Z - & - & 0OIRALE 29 X3 15,600 21,000 A5,400
202 Ol 4,800 4,800 0
01 =UHOIHI 4,800 4,800 0
OZEO0IYURIE XA HI B 4,800
308 XKtXIEHAISO0IN 10,800 16,200 A5,400
01 UHXSHHBLEES 10,800 16,200 ~5,400
oZZIY 2N 10,800
AL UE 2SN (1) 542,400 213,850 328,550
= 452,000
< 90,400
308 XtXIEHHSO0IX 542,400 213,850 328,550
= 452,000
= 90,400
01 MXHMBLEES 542,400 213,850 328,550
OULINFNAUH 29 492,000
= 410,000
< 82,000
ouEsIEXJME tls X 50,400
= 42,000
== 8,400
OlOIE 20l XA (=) 1,509,382 328,640 1,180,742
=2 1,390,220
< 119,162
308 XXM S0IH 1,509,382 328,640 1,180,742
= 1,390,220
< 119,162
01 UHXHHMBLEES 1,509,382 328,640 1,180,742
OOOIS 20! X 1,509,382
=2 1,390,220
= 119,162
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pJ 602,000
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= 108,207
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= 8,993
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pJ 1,650,772




SA OIS
of

H: 1% - 0l Y ESN(MISN/E] - IEL0IY)
Sl HEINE 23 x4 (e e
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ofl At ot HusZ
< 206, 347
01 MHXSHZEEZ 1,857,119 1,255,076 602,043
OO0t 2 S| 942,840
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= 104,760
onnYsa 23,279
| 20,692
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= 19,740
308 XHXIEHHIS O & 118,440 0 118,440
| 98,700
= 19,740
01 MHXSHZAEEZ 118,440 0 118,440
Ot = As N 118,440
| 98,700
= 19,740
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201 Yere | 3,600 5,000 A1,400
01 AtR22lt] 3,600 5,000 A1,400
OCI2&tE X 3,600
CISZE0IQN SDE A20f LA 24 18,000 20,000 A2,000
307 212+0I® 18,000 20,000 2,000
02 QIAPARE 8,000 20,000 A2,000
OYBE ARV SHDY 2 18,000
bEel g MBI HE 3,000 5,000 £2,000
201 Yere| 3,000 5,000 £2,000
03 A2t 3,000 5,000 A2,000
OMEX Y M 3,000
OS=XIAHIA XIg 15,654,465 12,006,516 3,647,949
=2 8,017,071
s 706,600
7 = 6,930,794
250E AUSH 127,000 145,000 18,000
201 Yere | 2,000 2,000 0
01 AtR22lt| 2,000 2,000 0
OO0l IS A 2,000
01 LprEA 25,000 25,000 0
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O0gole E30ts < 25,000
307 gIztold 100,000 118,000 218,000
02 22t A2 X 90,000 108,000 A 18,000
OANE0tS RAEE+ 90,000
04 BIZtHALE X 10,000 10,000 0
Ooelole JI8dA 10,000
Ors=RII2 24 23,800 24,700 A900
307 glztold 23,800 24,700 A900
02 2FEx 23,800 24,700 A 900
O2s0ls NEXNAMH 2 16,600
ONEAE XN HEH £ 7,200
OLSSAAE SAHA 1S 9,500 9,600 A 100
201 et 1,500 1,200 300
01 At22telH 1,500 1,200 300
OB AMA n=E 1,500
301 LeEt2a s 8,000 8,400 2400
10 BAIAHIE o =S 8,000 8,400 A 400
OUFEAA Abl24 8,000
2sotsdgerd X2 84,670 121,650 136,980
308 MXIEHHMS0IH 84,670 121,650 236,980
01 HXHMBLdE2XS 84,670 121,650 36,980
O=FJtd = 12,000
olistgsts 45,000
O==sfo{ ] 8,470
Os3 gl 19,200
otssal NE 5,088,700 3,007,700 2,081,000
202 044 7,700 7,700 0
01 2LHA Y 7,700 7,700 0
ootssa N8 7,700
308 MXIHHMSOIA 5,054,000 2,959,500 2,094,500
01 HXHMBLdE2ES 5,054,000 2,959,500 2,094,500
oI EZEsRE OlssSA 4,588,500
ogsrs Ots=4 445,500
OZA0lEs TAISY |:U] 20,000
403 XXX SKH=01H 27,000 40,500 213,500
01 XML X 27,000 40,500 213,500
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XSOotsSHE 2 X (=21) 3,203,608 2,402,400 801,208
= 2,669,673
[= 533,935

308 XXISHHESOIA 3,203,608 2,402,400 801,208
= 2,669,673
[= 533,935

01 MXSHIAANEE2 3,203,608 2,402,400 801,208
OXY0IsHE 29 3,203,608
= 2,669,673
[= 533,935

XNSEOols4HEH ®IIY 2HX(=2D) 44,676 0 44,676
= 22,338
[= 22,338

307 QI2to|A 44,676 0 44,676
= 22,338
[= 22,338

02 CIZHAAEX 44,676 0 44,676
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= 22,338
[= 22,338
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= 1,107,456
[= 94,925
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= 117,000
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308 XXl A SO 36,966 36,071 895
= 34,048
= 2,918
01 RXSHBARES 36,966 36,071 895
OIS YYAKEES 36,966
= 34,048
= 2,918
QPE0lE 182 25 29N (2D) 422,778 358,991 63,787
= 325,214
= 97,564
308 XiXlEHAISOIH 422,778 358,991 63,787
= 325,214
= 97,564
01 RXESHBARES 422,778 358,991 63,787
0RES0s 1Es 25 29X8 422,778
= 325,214
= 97,564
IIHFISOIS AHEEE NR(2D) 109,857 123,240 A 13,383
= 101, 184
= 8,673
308 X+l EHHISOIH 109,857 123,240 ~13,383
= 101, 184
< 8,673
01 RXESHBALES 109,857 123,240 A13,383
oaEE 2 109,857
= 101, 184
= 8,673
Ol XA N8 (21) 485,914 505,095 A19,181
= 447,552
= 38,362
308 XXl EHHISOI& 485,914 505,095 A 19,181
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OlsEAHE SESAMHIA(Z21) 3,000,000 800,000 2,200,000
= 3,000,000
308 NXSHMSOIH 3,000,000 800,000 2,200,000
= 3,000,000
01 XAXSHHIAEEZ 3,000,000 800,000 2,200,000
O0tsdEAYE SEAMHIA HS 3,000,000
= 3,000,000
We start Ot &< 253,500 371,000 A 117,500
201 Yere | 7,500 7,300 200
01 AtR22ldl 7,500 7,300 200
OWe start Ot=2 |23 24 6,000
OWe - Dream start OISSAIA W= 1,500
301 LBt8 A= 6,000 3,700 2,300
10 AR HIEAZ 6,000 3,700 2,300
ONSEALL AH|I LA 6,000
308 AFXIEXSO0I& 240,000 360,000 A 120,000
01 AIXSHBAEES 240,000 360,000 A 120,000
OWe start Ot2 29 K& 240,000
BMHIA 235 99,241,429 92,496,315 6,745,114
= 75,341,731
= 23,899,698
EEAMY S 17,500 21,500 4,000
201 dEt24| 5,000 9,000 4,000
01 AtR22ldl 5,000 9,000 A4,000
OEESdMARS 29 3,000
OESAIY 1 THH = 2,000
202 04d| 12,500 12,500 0
01 Z2WdH-I 12,500 12,500 0
BRAY FA 8,500
OEB=EANELEXNEEA 4,000
T BEKYBHEH 29(=21) 200,000 200,000 0
= 100,000
< 100,000
307 S12to1A 200,000 200,000 0
= 100,000
== 100,000
02 QI2tZAE X 200,000 200,000 0
o BEEdEHH &9 200,000
= 100,000
== 100,000
BSAUIASAE=AR 7,000 32,500 25,500
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307 212t01& 7,000 10,000 23,000
02 RIZtHAEE 7,000 10,000 3,000
OZRSAEHIIE ZAALY 7,000
A SAX 208 =2 (21) 80,656 84,900 A4, 244
= 40,328
[ 40,328
307 QI2H0IA 80,656 84,900 N4, 244
= 40,328
[ 40,328
02 RIZHNEE 80,656 84,900 N4, 244
OESAMESAAL Ex1S 80,656
= 40,328
[ 40,328
HEAE MASE0S X 280,000 588,000 308,000
308 XIXISHHSOIN 280,000 588,000 308,000
01 UHXSHHBAEES 280,000 588,000 308,000
OMASE Ols 4 K& 280,000
BRAL 2E4F FAXA 133,590 231,795 98,205
308 XXISHHSOIN 133,590 231,795 98,205
01 MHXSMBLEXZ 133,590 231,795 298,205
OESAH SHI| HgHARH 80,910
OESAE Wil 52,680
BEAE SFNH Na(=12) 491,647 740,967 A249,320
= 378,190
[ 113,457
403 XHXISHHIS XH2 0l & 491,647 740,967 A249,320
= 378,190
[ 113,457
01 MXSHH=2EE 491,647 740,967 249,320
OZEN= 128,947
= 99,190
[ 29,757
CY/I=ES 351,000
= 270,000
[ 81,000
oOFHIBY 11,700
= 9,000
[ 2,700
A SAX HMAX 430,860 606,450 A175,590
308 X XISHHISOIA 430,860 606,450 A 175,590
01 MHXSHHBAEES 430,860 606,450 A175,590
ORABEAIE EKWAN HRIHAUI 295,200
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BEAL SAX HRLY 112,400
OOt HEAIE EFUWAL =2 5,760
SFAE A RAF 21 HHl XI& 17,500
SSALESAL 24D 18,000 20,000 A2,000
308 X XISHHISOIN 18,000 20,000 2,000
01 HXSMBLEXS 18,000 20,000 22,000
OZ&ANe0ld storsal 18,000
ESAH SAX eAH XA(=1D) 26,699,765 24,434,279 2,265,486
= 20,538,281
[ 6,161,484
308 XXISHHSOIN 26,699,765 24,434,279 2,265,486
= 20,538,281
[ 6,161,484
01 MHXSMBLEXSZ 26,699,765 24,434,279 2,265,486
OB SES=SMHIA(SALRQIZAH]) 26,699,765
= 20,538,281
[ 6,161,484
HASZE HSESE XN (=2D) 43,110,508 50,564,904 AT,454,396
= 33,161,929
[ 9,948,579
308 XXISHHISOIN 43,110,508 50,564,904 AT,454,396
= 33,161,929
[ 9,948,579
01 AXNSHHBAEEZ 43,110,508 50,564,904 AT,454,396
OXNEESE2 XA (1~35) 43,110,508
= 33,161,929
[ 9,948,579
OI5HI0F SPAESR XA (3 D) 6,900,960 7,499,041 598,081
= 5,308,431
[ 1,592,529
308 XXISHHISOIA 6,900,960 7,499,041 598,081
= 5,308,431
[ 1,592,529
01 MHXSHHBAEES 6,900,960 7,499,041 598,081
OBISHIOF EK2 X 6,900,960
= 5,308,431
[ 1,592,529
OO PAESR XA (=2D) 1,455,685 1,512,671 56,986
= 1,119,758
[ 335,927
308 XXISHHISOIN 1,455,685 1,512,671 56,986
= 1,119,758
[ 335,927
01 AHXSHBLMEERZ 1,455,685 1,512,671 56,986
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OO RAEEE XN 1,455,685
= 1,119,758
[ 335,927
SREHOIA 22XV (2D) 3,640,599 3,553,083 87,516
= 2,800,461
= 840, 138
308 XHXIEHHISOI & 3,640,599 3,553,083 87,516
= 2,800,461
[ 840, 138
01 UXSHBARES 3,640,599 3,553,083 87,516
OFX 0l& 2SN 3,640,599
=2 2,800,461
[ 840, 138
A&0I0I20tE AYSXA(2D) 2,575,820 1,255,410 1,320,410
= 1,981,400
= 594,420
308 XHXIEHHISOIH 2,575,820 1,255,410 1,320,410
= 1,981,400
[ 594,420
01 MXSHIAEE2 2,575,820 1,255,410 1,320,410
O2FAIL 010/20IE ASX 2,575,820
=2 1,981,400
[ 594,420
OREE 882 S22 312,000 364,000 A52,000
308 XHXIEHHISOIH 312,000 364,000 A52,000
01 MXSHIAEE2 312,000 364,000 A52,000
OATOt 0l& B8 X2 312,000
SSALXYE(2D) 668,065 668,065 0
= 513,896
[ 154, 169
308 XHXIESHHISOIH 668,065 668,065 0
= 513,896
= 154, 169
01 RXSHBARES 668,065 668,065 0
OBSAL 29 N 668,065
= 513,896
[ 154, 169
U BR2 XA (2D) 453,297 0 453,297
=2 348,690
[ 104,607
308 XHXICSHHISOIH 453,297 0 453,297
=2 348,690
[ 104,607
01 RXSHBARES 453,297 0 453,297
oxHIIT BE2 X 453,297
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= 9,050,367
[ 2,715,110
308 XXIEHHISOIA 11,765,477 0 11,765,477
= 9,050,367
[ 2,715,110
01 AXSHBAEERZ 11,765,477 0 11,765,477
0JI2Es2 X 11,765,477
= 9,050,367
[ 2,715,110
SHH2AHH| (A IS (IIEH/IIE 30,310 34,810 4,500
Jl=2 30,310 34,810 4,500
SN2 12| 30,310 34,810 4,500
201 et 22,130 22,130 0
01 AtR22lH 22,130 22,130 0
ORMN2Y ARzl 22,130
202 O4Hl 7,680 7,680 0
01 ZLHOIHI 7,680 7,680 0
ORMN2E NI 7,680
405 XHatz S 500 5,000 A4,500
01 KALSEFSH 500 5,000 4,500
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